
𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝑠ଵଶ =
12

2
⎯⎯⎯(2 + 𝑡ଵଶ)

𝑠ଵଶ = 6(2 + 35)
𝑠ଵଶ = 222

𝑡ଵ = 2

 𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒕𝒘𝒆𝒍𝒗𝒆 𝒕𝒆𝒓𝒎𝒔 𝒔𝟏𝟐? 𝒔𝟏𝟐 =? , 𝒏 = 𝟏𝟐.

𝑡௡ = 3𝑛 − 1
𝑡ଵଶ = 3(12) − 1
𝑡ଵଶ = 35

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

Sum of "𝑛" terms 
formula: if 𝑡௡ is known.

Sum of "𝑛" terms 
formula: if 
𝑡௡ is not known.

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

𝑠ଵଶ =
12

2
⎯⎯⎯(2(2) + (12 − 1)3)

𝑠ଵଶ = 6(4 + (11)3)
𝑠ଵଶ = 6(4 + 33)
𝑠ଵଶ = 6(37)
𝑠ଵଶ = 222

OR
𝑠௡ =

𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 
2 + 5 + 8 + 11 + 14 + 17 + 20 + 23 + 26 + 29 + 32 + 35 = 222

𝑠ଵଶ = ? 𝑠௡ = 𝑠𝑢𝑚 𝑜𝑓 𝑛 𝑡𝑒𝑟𝑚𝑠

2   , 5   ,  8   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

+3+3

____                   
𝑡ଷ

____                   
𝑡ଵଶ

…  
? ?

𝑛 = 1      𝑛 = 2     𝑛 = 3  𝑛 = 4     𝑛 = 12  

𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑑 = 8 − 5

𝑑 = 3

𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑑 = 5 − 2

𝑑 = 3
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